Question 1 8 points   
You work for a U.S. company that manufactures ball bearings for use in a wide variety of products, including home appliances, exercise equipment, and high-technology devices such as computers and game devices. Your CIO has asked you to investigate whether Supply Chain Management Software would be an asset to your firm. Provide five reasons why your company should invest in SCM. 
1. To increase customer satisfaction. Where customers will receive the best products and it                                           will make members from the company focus their energy on quality.
2. It cuts costs and saves time: the system will ensure that mistakes are few, which will save time for man labor to do so and the money. As they say in business, time is money.
3. It will see employees give what they are supposed to do.
4. It will see the reduction of risks that will be avoided
5. It will also gain competitive advantage over the other companies
Question 2 4 points   
In your own words, briefly explain the difference between operational and analytical Customer Relationship Management.
Answer. An operational customer relationship management is management that builds and manages the customer relationship management in the company. It includes the call centers and the sales force. While an analytical customer relationship, management is the management that deals with the finding of data and that does the collection of data about the customers
Question 3 8 points   
In your own words, define the term "transaction cost". List and briefly describe four ways that the Internet can reduce transaction costs. 
Answer.  A transaction cost is the cost that is incurred other than the money price in trading of commodities. 
The internet is fast and due to this, its speed and availability of information makes it able to reduce transaction cost. It gives information at a fast rate other than other materials with a bit of accuracy. The internet has seen the reduction of search, communication costs also reducing the time expenditure in such transaction as checking a bank account balance. The customers can now have their answers answered clearly due to that and also trading shares of stocks and correcting an employee record
Question 4 8 points   
For each of the following E-Commerce revenue models, given an example of a business (either specific business or type of business) that would benefit from its use along with a brief explanation of why this is so: advertising, sales, subscription, free/premium, and transaction fee.
Answer.   A newspaper company or a TV station will benefit from advertising since through this kind, it will reach many people who want to advertise. These kinds of advertisement companies have a huge variety of customers who are willing to buy or watch and get the different types of adverts. In premium, many insurance companies use this kind to get to their customers. This are forms of payment to those insurance companies. While in communication companies, the use of subscriptions is what they use to reach  their customers. Transaction fee is use in business like banks and in communication companies like SAFARICOM. This fee paid when one is transacting, and that is how most companies make profits. 
Question 5 8 points   
Name and briefly describe two ways to gather and disseminate explicit knowledge within a firm and three ways to gather and disseminate tacit knowledge (knowledge gained from the personal and undocumented expertise of professionals) within a firm. 
Answer.  Explicit knowledge is  knowledge transmitted through media, which people share with others and in a firm, and the stored knowledge in  media can be  explicit knowledge
The use of technology can be a way of gathering this explicit knowledge with computers, watching of television, and getting information from the computer. Without the formal shared language then it may disseminate. If also it is not reused it ends up disseminating.
Tactic knowledge is rooted in action and experience ideas, values or emotions that people embrace. This is mainly the daily routine of employees in a firm, and mostly people gather it from the teamwork,
Question 6 8 points   
You are part of the MIS department of a large pharmaceutical company. Name and briefly describe two ways neural networks might be used within your firm. 
Ans. One of the types is the multiplayer-network that has no neurons that are on it, and it makes it hard for it accomplishes any given task. While the single –layer feedforward network is the one that a single layer and is easy to accomplish a task
Question 7 8 points   
Assume you work for the CIO of McDonalds. Name and briefly describe three ways your corporation could make use of Geographic Information Systems (GIS). 
1. It makes it easy to locate places good for other branches of the business. This is mainly to increase the customers and business.
2. It makes it easier for its customers to locate the nearest branch. Most of the customers enjoy the services and its products so it will be good for them to access the nearest branch wherever they are.
3. Customers can know the offers and get to it faster, and this increases the company relation with the customers.
Question 8 8 points   
In your own words, briefly explain what you see as the business value of a Group Decision Support System (GDSS).
Answer.  A group decision support system is a kind of program that its main work is to support customized projects that need the help of a group and various kind of meeting protocols. In a business, the GDSS is useful in the sense that it brings teamwork and no one have to work alone. It also makes sure that there is accuracy due to people working together.
Question 9 8 points   
You are consulting for the information technology division of a state university to guide and facilitate the design of a new system for handling college applications, which has previously been handled entirely with a paper-based process. They would like to set up a system by which prospective students can apply online. List five things you will do as part of the systems analysis phase.
1. Note technical requirement from a phase that is critical.
2. Test the performance of the system.
3. Document requirements or contribute to user manuals.
4. Understand the internal users and customers to learn and document requirement.
5. Understand software limitations.
Question 10 8 points   
List three advantages and three disadvantages of prototyping. Name two circumstances under which prototyping might be useful. 
Answer.    it reduces the cost by improving the quality of the things needed provided to developers. In another advantage, it allows the involvement of users and enables them interact with the prototype. It also has tangible and intangible quality making the product desirable to a user. It also has disadvantages that include the confusion of prototype and the finished system to the user. On the other disadvantage, it is has insufficient analysis that may lead to poorly final projects. A developer attachment to prototype can lead to attempts to convert a prototype that is limited to a final system; hence this ends up been one of some of its disadvantage. A prototype is to gather the team in what they are going to create. In other way, it can be useful for iterative supervised usability testing. 
Question 11 8 points   
You are working as a project manager for a small IT consulting firm and have been asked to create a plan for reviewing and auditing completed projects in order to gauge their success. List five factors you will use to measure the success of a project. 
1. Team satisfaction, when a project is successful the team that was conducting the project will be satisfied to show that they worked well
2. Budget is a factor. The project should have been satisfied with the budget put in place
3. Customer satisfaction is also another factor.
4. The quality of work done will also be a factor
5. A project should have a schedule.
Question 12 8 points   
In your own words, briefly explain the difference between intangible and tangible benefits and list three examples of each. 
Ans. Intangible benefits are benefits that are from an investment but, not of measured terms of money profit or touch. This may include, better vendor relationship, customer satisfaction and employer morale. On the other hand, the tangible benefits are those that are touchable example the saving money, paycheck and participation in a group insurance plan.
Question 13 8 points   
List and briefly describe five problems associated with international networks. 
1. Cyber attacks. Which have led to network intrusions that are seen as one of the national security and even economical challenges
2.  Climate change as another problem has seen different results that are not favoring. An example is severe drought.
3. Bio threats that have led to deadly diseases like flies and led to migrations and even suffering and lack of economic growth.
4. Transnational crimes also have been a problem. They have ended up causing major instability in most countries.
5. Poverty, this has been a major problem especially to the third world countries and has led to deaths and lack of economic growth.
Question 14 4 points
Name and briefly describe four potential drawbacks of utilizing the waterfall methodology for systems development projects.
1. It is better than the haphazard way due to its provision of methods of analyzing.
2. It is also simple and hence easy to implement and to put in mind.
3. It is preferable to projects where quality is incomparable.
 4. It has a high visibility.
